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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Beta Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.16 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.16 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.16 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.16 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.16 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.16 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).



Retrospective Power Curve
Igloo C0510
NRC License Termination
Seneca Army Depot Activity

ALPHA PHOSWICH

1.20
—e— C0510 Alpha Phoswich

Data

1.00 >
0.60 ;
16.3, 0.30 f/
0.40 f
- AM./‘
000 6-6-6-6666060666-066060606606-06606 .

0 5 10 15 20 25 30

Power (Probability of Survey Unit Failing)

Alpha Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.072 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Beta Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Beta Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.16 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Beta Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Beta Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).

BETA PHOSWICH

1.20

1.00 1 900000000000000000000000000000000000000000000000
. P00 00 000000000000 0000000000000 0000000000000 900

[ 256.5,1.00
0.80 /

—e— C0902 Beta Phoswich

Power (Probability of Survey Unit Failing)

0.60 Data
0.40
0.20 /
0.00 ] : : : : : :
0 200 400 600 800 1000 1200 1400

Beta Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Alpha Measurement (cpm)

Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.072 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (16.3) will have a 0.30 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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Based on the number of measurements and the observed standard deviation, a survey unit with a median measurement equal to
the background median plus the LBGR (256.5) will have a 1.0 probability that the survey unit will correctly fail (i.e., the null
hypothesis that the difference between the survey unit median and the background median is less than the LBGR [i.e., the survey
unit is indistinguishable from background] is rejected).
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